Soustraction (D)

Calculez la différence.

9446 1836 6191 5513
—562 =141 619 =590
6212 4121 5856 4548
=243 =97 845 =21
4552 7305 8354 7568
=60 =378 =955 H31
8141 7255 2956 8023
—656 611 =25 =173
8919 3718 4094 6482
=948 K95 /47 =725
9579 8968 4675 6032
=304 H87 HIYT 618
9123 1747 1758 7695
647 H91 H65 294
1802 2029 7235 1450
=562 =320 H6 D73
7284 6084 2763 3164
=314 641 =361 663
4069 5330 7837 9611
=451 633 H13 D7l

5721 4149 5340 6474 2591 7548
=929 465 H29 H58 =35 =31
7634 3744 7953 6958 4236 8805
=208 X8 =61 =95 H0 HS81
1211 6879 9184 6771 8779 5159
=20 HA47 =94 =267 922 =358
9109 5639 2008 8588 2850 8787
107 =605 =207 =141 =194 821
1445 7061 7523 9991 4202 7075
=56 =695 =691 210 =329 H93
2162 7551 6650 5778 5062 8588
=229 =364 948 661 674 164
1701 2396 3683 9283 1064 7508
—091 =155 HAI8 =350 A83 993
8902 7022 1465 5172 6365 1946
—590 481 R99 H25 HI91 A4
7366 4296 6965 7426 4831 @ 1422
=941 =275 H03 635 293 279
3751 2585 4939 2678 5060 - 7320
=165 =393 623 H32 =248 906
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